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Topic:- Physics

1) An object moving horizontally with a kinetic energy of 600J experiences a constant
opposing force of 100N while moving from P to Q (when PQ =3m). The energy of the object
at Qis:/

600 J B} TS SHoil | &fasr & TwiaR fezm & nfaw avg P ¥ Q (W9 PQ = 37 7@
TR 100N & e faRieht 9@ &1 srgua &t 81 Q W avg 1 Sl 8:

1. 500J
2.750J
3.300J
4. 400J

Correct Answer :-

« 300J

2) The acceleration due to gravity on a planet is 0.98 m/s2. If it is safe for a man to jump from
a height of 2m to the earth, then the corresponding height from which he can jump to that
planet will be [g on earth is 9.8 m/s?]:

TS UT W [¥ed &b HIRUT @01 0.98 /A2 1 afe 77w & fog 2+t At Sarg A gl R
FoT GR&d 8, A 98 dETHR SaTs forad 98 SH U8 W &g 9obdl 8, e gift: [gedt
W g, 9.8 A2 g

1.8m/8H
2.15m/ 159t

3.20m /20 |t



4.30 m /30 Hl

Correct Answer :-

« 20m/20H

3) The acceleration due to gravity on the surface of earth is ‘g’ m/sZ. The magnitude of the

acceleration due to gravity in m/s2 on the surface of a planet whose mass and radius are half
those of earth: /

gl F a8 W ¥ b HRUTERL, ‘g’ m/s? 8 | it ot el FBisar 3w e geawm=
1A TP T DI 98 WR m/s? ¥ To@ b HIRUT @30T BT GRATOT I

4. 8g

Correct Answer :-

4) The percentage of errors in the measurement of length and time period of pendulum is
1% and 2% respectively. Then maximum error in the measurement of acceleration due to
gravity is /

TgaH &1 dars 3R SMMad HTal & AT A Feal BT ufa=ra U 1% 30T 2% 81 =
TSP YU P HRUT @R S HIG A Sftrpan Ffe gnft

1. 6%
2.4%
3.5%

4.3%

Correct Answer :-

e 5%

5) The respective ratio of the resistance of 60W and 40W bulbs of the same rated voltage is: /

U XS dieesl aTel 60W 3R 40W & Teal P UfARIe HT SIUTd SHHT: B:

1.9:4



2.3:2
3.2:3
4, 4:9

Correct Answer :-

« 2:3

6) The time period of oscillations of a bar magnet when it is suspended in a uniform
magnetic field ‘B’ is found to be 2 seconds. The same bar magnet is remagnetised so that its
pole strength is 4 times the initial value. If it is suspended in the same magnetic field ‘B’ as in
the earlier case, then its time period of oscillation will be: /

TS &3 aP & gla-] &) JHITAf; o 39 TP JHH Gaa1g &F ‘B’ H dcH T STdl 8
at 98 2 Gbs Ui} wTelt 81 S <3 ga & g Aderss (RaHerse) farar sirar 8 arfe
SH®! YA T YRS |71 & 4 AT 31U 811 afe 531 St gao g &5 B’ o dewn

fear siTe S 5 ug arelt e A f5ar mar o1, 9 ST Siad & 99y rafy ghf:

1. 8s

2. 1s

3.4s

4, 2s

Correct Answer :-

7) The density of water is 1 g/cm3. Its value in S.I. system is: /
oIl &1 9-Ted 19TH/AH3 81 S.1 YUl # 36T 7 6:
1.1073 kg/m3

2.10° kg/m3

3. 103 kg/m3

4. 13600 kg/m3

Correct Answer :-

8) The penetrating power of X-ray increases with the increase in its .



TR Bt b AT N AR sTBT B gfcq S ATy daal B
1. wavelength / T G&df

2. intensity / Tiodll

3. frequency / 3T

4. velocity / aT

Correct Answer :-

 frequency / &nqi%r

9) A body of mass 10 kg at rest is acted upon simultaneously by two forces 4N and 3N at
right angles to each other. The kinetic energy of the body at the end of 10s is: /

R IR 3@ 10 T Soa™ a1 T P IR UH-gA & GHSBI W 4N SR 3IN B &
¢ TH 1Y T W1 &1 10 Abs & 3id | e ot wfast St gt

1. 50J
2.125J
3.300J

4. 100J

Correct Answer :-

« 125]

10) An electron of mass ‘M’ initially at rest moves through a certain distance in a uniform
electric field in time ‘t;’. A proton of mass ‘N’ also initially at rest takes time ‘t,’ to move

through an equal distance in the same uniform electric field. Neglecting the effect of gravity,
the ratio t, / t; is equal to: /

S M’ aTeT TP Faae - TRy § fasmAra W € s ue 99 fagyd &= # 99y
‘t,> § o fAf3a g | g~ ToRaT 8 | N SoIHTH aral U Wieid ot Sife sy |
fasmrawT ® Ygar 8, Tu fagga & | Iur gt 9% A g | 99 ¢ty S g
TFETHYUT & YUTT DI SUST HId T, 3UT t, / t; TP ST &:

1. 1836
2. \(M/N)
3. V(N /M)

4. 1

Correct Answer :-



11) A magnetic field does not interact with a ./

TP gaaIg &, Th P 1Y RIR YHIAT Evae) T8l giar gl
1. moving electric charge / TTiIRIel ]%3}1?[ 3{Ta

2. moving permanent magnet / TRl Rt W

3. stationary electric charge / RR ﬁﬂ:ﬂﬁ 3TaT

4. stationary permanent magnet / R =it W

Correct Answer :-

. stationary electric charge / FRR fagqd smawr

12) Water is used as coolant because of its i

U &1 TN Wfaas (Foe) F FUAITD! & SR fHar A 3|
1. high specific heat / 3= fafRmy Foar

2. low specific heat / ﬁ'ﬂ ﬁﬁﬂz S CHT

3. low density / P H Ydd

4. easy availability / ST YTl

Correct Answer :-

« high specific heat / 3=l fafRry SHeam

13) A radioactive substance has a half-life period of ‘T’ years. The time taken for 6.25% of
the original number of atoms to remain unchanged, when the substance has been undergoing
decay is: /

s eyl uerd &1 srufg &1a <1 a9 81 srufvafda e+ & fore wrmmvpen @t ga
TR & 6.25% GIRT T 1 IO J1d 6, Fafd uerd &1 &7 81 @1 8:

1. 4T years / 4T Gl
2. 6T years / 6T Gl
3. 2T years / 2T Gl
4. 8T years / 8T CL

Correct Answer :-

o 4T years /4T Gl



14) When a force of 1N acts on a body of mass 1g, then the body receives an acceleration of?:

/
W 19T S99 & T TR IN 31 90 1 BT g, df e &) ured g4 a1eT <Rl 8:

1. 980 m/s2 / 980 HI/A2
2. 1000 m/s2 / 1000 HI/32
3.9.8 m/s2 /9.8 T2

4. 1m/s?/1 Iﬁﬁz

Correct Answer :-

« 1000 m/s2 / 1000 T2

15) A car of mass 1000 kg is moving with a speed of 10 m/s along a circular path of a radius
10m on a level road. What must be the frictional force between the car and the road so that
the car does not slip?/

1000 fHARITH SoTHTE B TP HR 10 HI/A Bt I A TP JUIE Y& W 109 B &
TR U TR 7 € 1 FR IR e S e wfur I o1 G AR A e frwrad

Tar?

1. 102N

2.10°N

3.1°N

4.10*N

Correct Answer :-
. 10*N

16) An aeroplane flies 200 km eastwards, then 300 km northwards and then flies back
straight to the starting point. If the speed of the aeroplane throughout the journey is 500
km/h, then its average velocity is:/

TS gars ST 200 fFH qd 1 3R, fibR 300 forrft SR &Y 3R Iar & SR fh= amuw
TR fig B MR I WRaT 81 afe Tt arn & SR gars sgTe &1 a1 soofdswi/aer
2, A ST 3NTd T Eh:

1. 400 km/h / 400 TopH1/9eT
2. 100 km/h / 100 fopHl/der



3. Zero / YU
4. 500 km/h / 500 TopH1/ geT

Correct Answer :-

» Zero /[

17) A wire of length ‘L’ and radius ‘r’ is fixed at one end and a force ‘F’ applied at the other
end produces an extension /. The extension produced in another wire of the same material of
length ‘2L’ and radius ‘2r’ by a force of ‘2F’ is: /

TH R S T R TR R forar mar ok gav R W 9 'F &vman 1 foras 7
foaR ST g3l Ju verd & wars 2L ofR fAsur 21 91 U 3= aR | 2F 94
§RT 37 fawR gim:

1.1/2

2.L

3.2/

4.4/

Correct Answer :-

e L

18) Ify = 5 sin (0.05t + 0.05) gives the equation for a simple harmonic motion where ‘y’
represents the displacement at the instant‘t’, then which one of the following gives the
frequency of SHM? /

T y = 5 sin (0.05t + 0.05) , TP T AT ol & forg JHIwHR0r a1 8 ForaH <y &1 't R
Ty 31 gufar 2, 9 Frafif@d § @ #19 tauauH & gy a1 82

1.2 x 0.05
2.0.05
3.0.05/2n

4.5

Correct Answer :-

« 0.05/2n

19) Which of the following substances has the highest elasticity? /

fFrafafad § 3 fog ugrd & = 999 e gidl 82



1. Concrete / HEPIC
2. Aluminium / Teg{HATH

3. Copper / dIdT

4. Steel / HUId

Correct Answer :-

o Steel / SYId

20) On a smooth floor, a ballet dancer is spinning with an angular velocity of 20 rad/s about
a vertical axis with her arms folded. When she stretches her arms fully, the spinning speed
decreases to 10 rad/s. If ‘I’ is the initial moment of inertia of the dancer, then the new
moment of inertia is /

o fadit 98 W, T 9d Td$! U digl Ht Misd §U TP Tad 3H&f UR 20 rad/s &
DIV AT & TTY TAT 8 | 919 98 U1 qigl Bt T a¥e A Gid <ot ¢ al ISPt a1 10
rad/s 9% °€ STdl g1 IS v, Tdb) BT URM® syl 8 & 7a1 STswarygvf &:

1.1/2
2.1/3
3.21

4. 31

Correct Answer :-

21) The kinetic energy and potential energy of a particle exerting simple harmonic motion
of amplitude ‘A’ will be equal when displacement is:/

3TATH ‘A’ & TS 3T fd B Wiad a1 Teb BT P ST St 3R GHIAT St
AT g, i faITa= g

1.A2
2.2A
3. A\2

4. A N2

Correct Answer :-

« AN2



22) A long, straight, solid metal wire of radius 3 mm carries a current uniformly
distributed over its circular cross-section. If the magnetic field induction at the surface is
“B”, then the magnetic field induction at a distance 1.5 mm from its axis will be:/

3 fift Frsar aren we e, e, SN 91fd® dR 31U+ TP R SURI-HIe R I0H T4
¥ faafed YRT &1 954 Hea1 8| Tl Tdg W ga&1g &F U7 "B B, O SHP! & F 1.5
it &Y g3t uR gaaia &= T g :

1.2B
2.B2
3.B

4.3B

Correct Answer :-

« B2

23) A helicopter of length 10m rises vertically up with a speed of 20 m/s. If the

horizontal component of earth’s magnetic field is 1.5 x 10~3 T, then the e.m.f. induced
between tip of the nose and tail of the helicopter is: /

10 Hiex F) AdTS 91T TP BAIBIPR 20 Hicy/Adhe B! A1 A dgdd SHUR B1 3R ISd1 81

gfe gl & gaoia & &1 @fasT ge® 1.5x 103 T 8, T TNPIER & T R Uy & ¥

1.5V
2.0.3V
3. 150V

4. 125V

Correct Answer :-

- 0.3V

24) The magnetic field of earth at a place is Bg and the angle of dip is ©. A horizontal
conductor of length ‘/ lying in the magnetic meridian (i.e. in the magnetic north-south
direction) moves eastwards with velocity ‘v’. The emf induced across the conductor is: /

forlt W WR gt B1 gt 87 Be 8 3R SHST Meara- H1vr/Af HYor (Tre 31w f3u) e B
YaP g HATE (A aPTa IwR-gferor fomm #) o fRya 7 wars aren s U & 391 v dargs,
AV F 1Y I $ 3R g1 2| Iras | AR STHTE §:

1. Zero /

2. Bg/vsin®

3. Bg/v



4. Bg/vcos©

Correct Answer :-

e Bg/vsin©

25) An object is placed at a distance of 28 cm from the mirror. If a real image is
produced at 28 cm from the mirror, then the magnitude of the focal length of the mirror
is: /

SUUT 28 A7t Y g WX U o I ATt 71 afe guor A 28 Wit R U aafas sfd
fafifa g 8, Y guur & wied dars &1 ufkHTr g:

1. 30 cm

2. 15 cm
3.28 cm

4. 14 cm

Correct Answer :-

e 14 cm

26) In a Young’s double slit experiment using red and blue lights of wavelength 600 nm
and 480 nm respectively, the value of ‘n’ for which the nth red fringe coincides with
(n+1)t blue fringe is: /

T & g Ya1-fisg vanT & s aﬁ%ﬁ600nmaﬁ§480nmmﬁﬂmﬁaﬁ?=ﬂ?ﬂﬁ‘$ﬂ
?am“%mﬁgq, n' BT T 19 B, Rrad R o3 a1 e, (n + 13 1 fber & Try
ECIGLEGH

1.4
2.2
3.5

4.3

Correct Answer :-

27) In an n-p-n transistor amplifier, the collector current is 9 mA. If 90% of the electrons
from the emitter reach the collector, then what is the value of « and g? /

T® n-p-n gifoReR adfe/TRABRR ¥, GUEl 4RT 9 mA 81 afe Tfirer & 90% saaer Jure!
IP Ugdd 8, af o 3R B BT HF FT 82

1.<=9.0; B=0.9



2. =9.0; B =9.0
3.0¢=09;B=9.0
4.0¢=0.99;B=99.0

Correct Answer :-

. x=0.9;B=9.0

28) A potential difference 'V’ is applied across a conductor. At constant temperature ‘T,
the drift velocity of electrons through the conductor is proportional to: /

% fRAYaiaR v U YT (Fsaer) ¥ ORI 94T 8 | FHad 9w v W), Hares &
AT q FAFE ] BT UATE AT 3P SATIUTA gIelT 8:

1.V
2.T
3T

4.\V

Correct Answer :-

Y%

29) A galvanometer of resistance 20Q is to be converted into an ammeter of range 1A. If
the current of 1mA produces full scale deflection, then the shunt required for the purpose
is: /

20Q UfeRIY 91 Th A@-1HeT & 1A & IS 91t THieR § S Uiaia #3181 afe 1mA
Pt YRT Juf TN W f3&qor Uer Hdt 8, a1 SExa & fore smaxa® e 3:

1. 0.03Q
2.0.02Q
3.0.01Q

4. 0.04Q

Correct Answer :-

« 0.02Q

30) An astronomical telescope has an objective of focal length 100 cm and diameter 10
cm. Its eye piece is of focal length 5 cm and diameter 4 cm. If the telescope is in normal
adjustment, then the angular magnification is: /



Th G g &t U Bidvd ddTs 100 TH 3R URT 10 A 31 39T AAD1
aﬁuﬁwﬁ;@gﬁtﬁaﬁ?mmﬁ%l gfe gRd ATH=I AT § § O 3961
B 3T :

1. 120
2.20
3.25
4. 15

Correct Answer :-

- 20

Topic:- Chemistry

1) The product obtained when glucose is treated with bromine water is: /

IS P A T A UG 1 W YT 811 aTal ITE 3:
1. Saccharic acid /W AT
2. Sorbitol /?Iﬁ'c"\fa

3. Gluconic acid /W SR
4. Mannitol/ Aferd

Correct Answer :-

» Gluconic acid /W 3T

2) Which among the following is a chemical system that is non-aromatic? /

frfafea 7 @ o-9 arfe yomed, -t 82

@/CHE

1.



Correct Answer :-

3) The Lanthanoid Gd exhibits an oxidation state of +3 only because: /

AYATSS Gd HAd +3 B MTRNBIUT AT P USRI BT 7, FlfP:
1. Gd*" has a small ionic size and high effective nuclear charge. /
Gd3* H U BleT AP THR 3R I YHTE TRHTUIS AN B |

2. Gd3" has 40 configuration. / Gd3* # 4f0 A= g |

3. Gd has a unique electronic configuration. / Gd o Uh 3HAI $€1dc\l’i'\'|0b fo=amg Eﬁ?ﬂ %l

~

4. Gd has low value of third ionisation enthalpy. / Gd & TR ISR T &7 HH HH B

Correct Answer :-

« Gd has low value of third ionisation enthalpy. / Gd & TR 3TaeHR0r TR &1 AH &4 g

4) The minimum amount of energy to be obtained by the reactant molecules to form
activation complex is known as: /

Afepapd JH? (UfFedIE FIudae) I & [T ifieR® v gRT U ot 9
el Soit B gAaH U B " & =9 | =1 91 8:

1. Potential energy / fyfas St
2. Activation energy/ Jiepaur ol
3. Threshold energy/ QG_E?IQ_E' W
4. Kinetic energy/ Tfast Soll

Correct Answer :-

 Activation energy/ Jigpaur Soll



If the enthalpy of vaporization of a liquid is 30 kJ mol™! and entropy of vaporization is 75 J
mol' K~ 1, then the boiling point of liquid will be: /

gfe TP dRA & aTWIHUT Bt TAT 30 kI mol™! § 3R arefiwur @1 et 75 J mol”
1Kk —1 3 dl TRd BT FqYTiH gHM:

1.400 K
2. 600 K
3.450K
4.250 K

Correct Answer :-

« 400 K

6) What would be the total number of electrons in an atom having the quantum number

n =4 and spin value = —1/2?/

HicH /AT n = 4 3R &I M = -1/2 A TH WA A SATC Dt T WS R R
1.18

2.16

3.25

4.27

Correct Answer :-

7) What is the total number of Elastomers for the given polymers:

Polystyrene, Vulcanised rubber, Neoprene, Glyptal, Polyisoprene, Polyvinylchloride,
Buna-N, Melamine?/

= fow T sgaw! (i) & oY Tareiae (Gare ) 3t Fo BT 1 3

N, AETHIS?

1.4
2.5

3.6



4.3

Correct Answer :-

8) What is the mole fraction of ethyl alcohol in the solution containing 40% C,H5OH, 20%
CH3O0H and 40% H,0?/

40% C,HsOH, 20% CH;0H 30R 40% H,0 aTd faera< # sUTSa Uepied BT HId-3i=1 &1
82

1.0.23
2.0.40
3.0.39
4.0.47

Correct Answer :-

- 0.23

9) Name the crystal system in which none of the axial lengths are equal but all the axial

angles are 900, /

39 foheed Yumell &1 9 a7 @ forad &1 oft srefia wiare JwE 981 81l 8, afeew aaft
3reftg w1 90 B B

1. Cubic / 91T

2. Tetragonal/ g THEaTY (CTMIH)

3. Hexagonal / W'Uﬁ'q (%a"\rl'l'rn_"l?l)
4. Orthorhombic / fawHefenas

Correct Answer :-
« Orthorhombic / fauHcaTes

10) Salt A when treated with conc. H,SOy, in presence of chloride salt B, gives orange red
vapors. What is salt A?/

AU A ) 99 FAIRTSS 99Ul B 31 IufRUf & Hig H,S0, & A1y Iy« far Sirar g ot ag A
TSl 9T T & 1 AT A T 82

1. KMnO4



2. K2Cr207
3. KzCI‘O4

4, MIlOz

Correct Answer :-
. K2CI‘207

11) Square planar complex results from hybridization. /

I FHAT B Hehvor § URUTHER=Y fiear 2|
1. dsp2
2. sp2d2

3. sp3

4, sp3d

Correct Answer :-

12) A sample of manganese oxide has average formula Mn0.98 O, (. What fraction of Mn

exist as Mn2" and Mn3" ions? /

WIS SMTRITES & TP YA BT 3NTd A Mn0.98 04 oo &1 Mn HT HIH-HT 3R Mn2+ and Mn3+
3 & =9 ¥ 3f&ia # 82

1. % of Mn2* =90 ; % of Mn3* = 10% /
Mn2* &1 % =90 ; Mn3* &1 % = 10%
2. % of Mn2* =4 ; % of Mn3* = 96% /
MnZ* &1 % =4 ; Mn3* &1 % = 96%
3. % of Mn2* = 96 ; % of Mn3* = 4% /
MnZ* &1 % = 96 ; Mn3* &1 % = 4%
4. % of Mn2* = 10 ; % of Mn3* = 90% /
MnZ* &1 % = 10 ; Mn3* &% = 90%
Correct Answer :-

e % of Mn2* =96 ; % of Mn3* = 4% /



Mn2* BT % = 96 ; Mn3t &1 % = 4%

13) pH of a tomato juice is 4. Calculate the concentration of hydronium ions in it./
THIER & ST &1 NTT 4 a1 81 SHH SIS H-AH AT B TigdT H1 TUFT B
1. 0.0001

2.04

3.4.0

4. 0.04

Correct Answer :-

« 0.0001

14) Peptising agent is ./
Yprgfon wele 2l
1. electrolyte or non-electrolyte / d Gk,‘:I digc dl ﬂT“I—‘i d GK;\I GIEY

2. always an electrolyte / BfF‘ZT[ Uh séaﬁlalsa

3. always a non-electrolyte / RERURGD "I\IJ'-I-sadg\IQ'H'sC

4. a lyophilic colloid / T GaRI HIATSS

Correct Answer :-

« always an electrolyte / _Eﬂ?IQT[ Uh séaﬁl NIE

15) Calculate the work done when 1 mole of an ideal gas is compressed reversibly from 1.0
bar to 5.0 bar at constant temperature of 300 K./

W9 U 3SR A9 &7 1 Hid 300 K & ~rad 9199 IR 1.0 IR ¥ 5.0 IR & I<PHUINY U 4
Tiifea fear sme ot e e &rf & o F9)

1. 18.02 kJ
2.-14.01kJ
3.4.01 kJ
4.8.02kJ

Correct Answer :-

« 4.01kJ



16) Which one of the following is NOT a factor which influences formation of ionic bonds? /
frafafad § @ S19-91 t6 RS 7181 § 9l A ey & TS Bt gHIad HRaT 82

1. The coordination number of the cation must be high. /

YA 1 FH-ag AT I gIH1 Mgl

2. Lattice enthalpy should be high. /
STas et 3= git anfg U

3. Electron gain enthalpy of the atom forming the anion must be highly negative./
FHUMGT §1 a7l TRHTY] 61 S arH T 9gd 3ifeie FeRIA® g1 dlfet|

4. The ionisation energy of the atom forming the cation should be low./

YT T aTel URATY &1 STIHIHRUT SHoll HH g Al |

Correct Answer :-

» The coordination number of the cation must be high. /

¢TI D FHGY A=A 3= gt dlgd|

17) Which one of the following anions is not stabilized by resonance? /
Frafafea & @ o=-91 B sgAe (REHE) gRTfRR T8 32
1. MnO4”

2. RCOO

3.NO3’
4. CO5%>

Correct Answer :-

18) Which one of the following acids is also an important vitamin needed for healthy
growth? /

fFafafEd 4 @ $19-91 & o W faer & fore smaxas faerfarm o 82
1. Glutamic acid / TCTHD 3

2. Ascorbic acid / TG ST

3. Aspartic acid / T D 3



4. Stearic acid / T IAND 3+

Correct Answer :-

« Ascorbic acid / W\’% 3T

19) Which of the following solutions will show the negative deviation from ideal behavior? /

FrafafEa & @ s1F-a1 faee snexf aeR | TeRIEs faaed feamem:
1. Mixture of benzene and toluene / SSii 3R Clc'i;_l\‘{:"l CANEE|

2. Mixture of ethyl bromide and ethyl iodide / SUTST SIHIZS 3R SUTST SMANSTSS BT LTI
3. Mixture of ethyl alcohol and water / RUIS 31cd>\IE§Q'1 3R I T g

4. Mixture of chloroform and acetone/ W Gﬁ'\" Q?“E-l:l CAREE L]

Correct Answer :-

« Mixture of chloroform and acetone/ W G?IT Qi:“él'_‘l CAREEE L

20) Which of the following is the isotone of 32Ge76/

Frafafad # | S19-97 3,676 ST ISP (3MFHICH) 82
1. 32Ge77

2. 33As77

3.368078

4. 348077

Correct Answer :-

21) Which of the following is the correct relationship between atomic radius and edge length
of face centered cubic unit cell? /

fFrafafea o ¥ F19-91 a1 B ok was Sid a-a 3&1s 9 &1 $R a1 &
= 9d) gy 82

1.r=a/2\2
2.r=\3/4 a

3.r=V3/2 a



4.r=a/2

Correct Answer :-

e r=a/2\2

22) Which of the following pairs is Lewis acids? /
frafafea 4 @ o-w1 gw gsu RS 92

1.NH, ", BCly

2. BCl3, FeCly

3. AICl; , HyCO;5

4. HCI , HNO,

Correct Answer :-

4 BC13, FeCl3

23) What would be the wavelength of a subatomic particle having a mass equal to that of an
electron and moving with a velocity equal to 4.10 x 107 m/s?

(h=6.63 x 10~34 kgm2s1)/

TSP I - WHIUGS HUT I diGed 1 1 ForaeT SouH= T 3aaeiH & JHH & 3R
4.10 x 107 m/s & THT AT & ATY TeldT 872

1.1.01x10722 m

2.0.18x10712m
3.1.78 x 10711 m
4.10.1x 10721 m
Correct Answer :-

e 1.78 x 1071 m

24) Which among the following products is formed when Ethanal is treated with drops of Conc.
H,S04 at 298K?/

oI TAHITA I 298K TR Hig H,S0, P gai & A4 Iu=ivd farar sirar 3 af fFA=fafaa &
| w1 Iarg fAffa gme

1. Ethyl hydrogen sulphate / TYTgd] 6I$§\I\?I"I Helhc

2. Paraldehyde / a?TQ%SBTE{S'




3. But-2-ene / &JC-2-Uq
4. Ethene / Q?ﬂ:f

Correct Answer :-

. Paraldehyde / TRTUCEBTZS

25) Which among the following is the strongest acid?/
Frafafed o ¥ F19-91 998 aoiqgd o 32

1. CH3COOH

2. BrCH,COOH

3. FCH,COOH

4. CICH,COOH

Correct Answer :-

« FCH,COOH

26)
Calculate the bond energv of C = Cin acetvlene in the following reaction :
2C(s) +tHa(g) = CaH2 AH =225 kI mol ~!

Given that enthalpy of sublimation of carbon is 710 kI mol ~! and bond energy of

C —H and H —H bonds are 350 kI mol~!and 330 kJ mol -1/

Arafof@a M & witeha & ¢ =c & gies FaT i 7var fifFe;

2C(s)+Ha(g) 2 C:Ha  AH=225kTmol-!

e T & w1 & Iduaa & vetedt 710 ki mol - 18 3R C -H U4 H - H 3@t
T gles Far 350 kI mol - ! 31T 330 kI mol - 1 81

1. 825 kJ mol ~ !

2. 1165 kJ mol !

3.2225 kJ mol ~ !

4.1750 kJ mol ~ !

Correct Answer :-



« 825kJImol !

27)
Give the IUPAC name of the organic halo compound. / CACIGED gl Iif&E F7 IuPAC FTH

FaET|

1. 4-bromobut-2-ene / 4—W—2—3¢[
2. 1-bromobut-2-ene / I-W-Z-s:f
3. 3-methyl-1-bromopropene / 3-&%—1—@%
4, 1-methyl-3-bromopropene / 1-&%—3-§nﬁm’cﬂ:{

Correct Answer :-

« 1-bromobut-2-ene / I-W-Z-éﬁ

28)
For a first order gas phase reaction : Ag 22B:+ C: P0 be the initial pressure of A and Pt the

total pressure at time ‘t” . Integrated rate equation is: /

UF 9UH @it g raem JfARAT A, 22B.+ C: PO & 6T uRfEE gad AR
AT W Hel g9 Pl Thidhd &l GHIEOT &

2303 2P0
k= log
t 3P0 — Pt
1.
2.303 2P0
k= log
t 2P0 — Pt
2.
2.303 PO
k= log
t 2P0 — Pt



2303 PO
k=

lo
t gPD—Pt

4.

Correct Answer :-

2.303 2P0
k= lo
t 3P0 — Pt

29)
10 mole of Nitrogen and 30 mole of hvdrogen are mixed togetherin a litre container. If 25% of
nitrogen is converted into ammeonia in the given reaction. Then, total number of moles in the

container are:

Nafg) + 3Hx = 2NHaf

Aserete & 10 A 3R gEsia & 30 Al &7 U oiel Fee) & v ary AfE
fEraT Jrar &1 afE & 75 3T & 25% Ascs, AT F aReda g I &
dr ®eeR # Al $T Fol TEAT ¢

Na(g) + 3H2 +—— 2NH:

1. 25 mole / 25 A
2. 35 mole / 35 HISI
3.20 mole / 20 AId
4.30 mole / 30 A

Correct Answer :-

« 35mole /35 AIA



The mechanism forthe reaction is
2P+HQ =5+T
P+Q = R+5 (slow)

P+R =T (fast)

The rate law expression for the reaction is: /

yfafsar & fov Sarfafa §9 & = &
2P+HQ =5+T

P+Q = R+S (AT

P+R =T (=)
sfafear & O X ToE <ae (Yc o vaavere) &

1. R=K[P]?

2. R=k[P* [Q]
3. R=Kk[P] [R]
4. R=k[P] [Q]

Correct Answer :-

« R=Kk[P][Q]

Topic:- Botany

1) The polarity of the coding strand is: /

DI ISP (PIST KS) P gt (@) it 2
1. Either of the two directions /@?ﬁﬁﬁrw ‘mmﬁ
2. Both ways /G 3R

2) What is Wobble Hypothesis? /



dissd YRS AT HIT 82

1. Degeneracy of a small gene / BIC S BT 31Y: T
2. Degeneracy of the 2" base / 2% S T Y G-

3. Degeneracy of the 3™ base / 3% S BT 3HY: G
4. Degeneracy of the 15t base / 19 99 T 3f¢f: TTH
Correct Answer :-

« Degeneracy of the 3™ base / 3% S BT 37Y: T

3) Morphine and codeine are extracts obtained from a hallucinogenic plant. Which of the
following is a source of morphine and codeine? /

HITh 3R HISH TP srga-o=e urey J e 3 § | Frafefea & @ #i4 Aifha
3R B $T1TH W 82

1. Poppy / U

2. Cocoa leaves / PP Uit
3. Cannabis / B

4. Penicillin / OfRifeH

Correct Answer :-

o Poppy / LIES|

4) The presence of is responsible for making the stem woody in dicot plants. /

o1 IufRufa, ot el § a1 &1 S18ta 91 & e Iqaver! 3|

1. closed vascular bundle / {-iCid Hag-il dgd

2. conjoint vascular bundle / gdd Tdgl s
3. radial vascular bundle / fSTd Tagt dsd

4. open vascular bundle / gl Hag-i sed
Correct Answer :-

» open vascular bundle /Tl HHE:ﬁ dged

5) The plant that has been used for the synthesis of Hirudin using biotechnology is: /

Sig MRSt @A Hiaion) $T START Hd §U 819814 & WAy & fore Iuahr farar
\_rlﬁa'l?ﬂtﬁ%ﬂ%



1. Oryza sativa | 3/??73’?7 giear
2. Brassica napus | FIHT 57
3. Gossypium | mrEfaTE

4. Zea mays | forgr gor

Correct Answer :-

« Brassica napus | STI®ET 759G

6) In an aquatic food chain, the maximum biomagnifications of DDT can be seen in: /

TSP A1 Wrel §aar #, SIS & siftrran da smadd= ar Fasmasdfazor
@RISR @1 e § T & Jwdar &:

1. Zoo planktons / UTRM<wad (S Wde)
2. Small fish / DI HST

3. Fish eating birds / AS @ a1 qﬁ'ﬂff
4. Large fish /El_fﬁ aIdr

Correct Answer :-

« Fish eating birds / EENIREI BRI RCIER]

7) A cross between pure tall pea plant with green pods and dwarf pea plant with yellow pods
will produce how many short F, plants out of 16? /

&) well aTd Y[ @9 WeR & W 3R dieft weft ard 19 7ex & WY & S I, 16 7R
fFaa 31 F, T Iquifea s

1.9
2.4
3.3

4. 1

Correct Answer :-

8) In which of the following types of succession, lichens are considered as the pioneer
species? /

Frafafea o 3 i3 yoR & srgwavr |, age (&are) &1 srroflt et a =T srar 82

1. Xerarch / b ARH (FSRTE)




2. Sere / HHD ()

3. Climax community / IRY JH&R (FIZHA )

4. Hydrarch / SR (B1389)

Correct Answer :-

« Xerarch / IHARHI (FSRTeh)

9) Which of the following has NO residual endosperm? /
frafefed & & foad g safRry tsrd agi giar 82
1. Castor / PR (3‘@)

2. Black pepper / CANINEE]

3. Pea/ HCX

4, Barley / Sl

Correct Answer :-

e Pea/HCIX

10) Which of the following hormones is used to control apical dominance? /

fFrafafad & Q@ S19-a1 g, SR yyIfadr (@fied srae) &1 fAafd w3 & forg
SUANT T ST 82

1. Ethylene / Qﬁl?ﬂq

2. Cytokinin / Hﬁaﬁ;ﬁ:{
3. Gibberellins / FTeRef=
4. Auxin / 3fTeRIH

Correct Answer :-

e Auxin/ \#ﬁ?ﬂ:{

11) Which of the following statements is INCORRECT regarding food preservation by
sugaring method? /

TR fafe gRT W WR&v1 & ey ¥ Fafafea d 9 sF-a sy Tad 82

1. This process leaves the microbial cells dehydrated and kills them. /

g vfshar ged SR o) FAsiferd ois 3l 8 iR 3% AR I 8|



2. Sugaring causes plasmolysis in microbes. / @Tﬁ"'{, WGﬁ T WIRACIRN &1 SR a1l B |
3. Sugar is a non ionic humectant to reduce moisture and texture. /

it it SR W B FH HA & o Tw R s o B
4. Sugaring can be used in jams and jelly. / TR &1 IUTNT SIH 3R Sreit H fan 571 T 3|

Correct Answer :-

« Sugar is a non ionic humectant to reduce moisture and texture. /

I TH 3R YT B HH A P o T TR b 3MEh g

12) The total number of male gametes seen in 100 pollen grains is:/

100 TRTT HUN & W W11 aTel 7R THS! Ad 1) 1 Fot TBAT glell &
1. 120

2.200

3. 100

4. 220

Correct Answer :-

» 200

13) Which among the following is NOT an asexual spore seen in plants? /
Frufafaa 3 @ o1 dil F @1 9 aren srafie sty =8 82
1. Akinetes / M9 StSITT] (Ub-Te)

2. Zygospore / HIU[ (G@ﬂ@?)

3. Aplanospores / AT (TIAFRYR)

4. Zoospore / TASTSIY] (SRUR)

Correct Answer :-

e Zygospore / JHIT] (\_rl'lg"'ﬁ@?)

14) Which of the following plants shows archegonia-female reproductive organs? /

fFafifad & @ $19-3 0 Werh-arer go=- 3 &) gxifar 2?2

1. All of these / STFad T
2. Pinus only / PHad BIERES

3. Selaginella only / Faa Tafomar



4. Funaria only/ bdd uqﬁf{m

Correct Answer :-

« All of these / ST e Tt

15) The first stable compound to be produced after nitrogen fixation is: /

ArgeIe RS & aTg Iquifed g arar ugean fRR dife 8:

1. Glutamic acid / ‘?E'm ST
2. Nitrate / HI%EE
3. Ammonia / I

4. Nitrite / FISCISC

Correct Answer :-

o« Ammonia / =T

16) Which of the following is NOT an inclusion? /
frufafEd § & $19 e THRH GREH) T8 82
1. Gas vacuoles in bacteria / aﬁiﬁﬁm H ﬁﬂ w

2. Cyanophycean granules / WWI_E{@FT Wmﬁ

3. Vacuoles in plant cells / UTqU CANEARTRE W
4. Phosphate granules / WWW

Correct Answer :-

« Vacuoles in plant cells / UTGU HITRIb13f F Rfdaamit

17) The chemical composition of chromatin is: /

PAfe 31 TR WRa 6

1. DNA, histones and non-histones only / W DNA, %@7[ 3%? ﬁ?—%@q

2. DNA, histones, non-histones and RNA / DNA, %@?[ th ﬁ?—%@:{ GhT RNA
3. DNA and histones only / FId DNA 3R %@:T

4. DNA and RNA only / %ad DNA 3R RNA

Correct Answer :-

o DNA, histones, non-histones and RNA / DNA, i%l‘él:l G'ﬁT ﬁ?—l%éﬁ G?R RNA



18) Which among the following cells of embryo sac do NOT take part in embryo formation in
angiosperms? /

YOI B9 o1 il siRmeel & @ i eforied § oor fAafor & yrr &t adt 32
1. All of these / STJad Tt
2. Eggcell/%m@@ﬂ)

3. Antipodals /QﬁW(Q Iarsa)
4. Central cell / BT DIRABT

Correct Answer :-

« Antipodals / Ufdga®y (TCIUISa)

19) Which of the following characters is NOT true for tRNA? /
FrafafEa & & o-91 9801 (RNA F g I T8 32

1. Its role is to carry amino acids to mRNA codons. /sﬂ?ﬁ){ {&Iﬁ Q'&I:h E@I_S' P mRNA BISH H @ o
Eakd

2. Its shape is clover leaf-like, folded into L shape. / T8 L TR H ST g3 TR I fauferdr & o o1y
THR BT BT & |

3. Life is very short, 2 minutes to 4 hours and degraded after translation. /
foreft 9ga srew, 2 fire T 4 902 &1 1 § 3R RIFRU & a1 Figrd 81 St |

4. There are about 60 types of tRNA. / Eﬂﬁ TIHT 60 UPR & tRNA Eﬁﬁ %I

Correct Answer :-

 Life is very short, 2 minutes to 4 hours and degraded after translation. /

freft 9gd 31ey, 2 fFe ¥ 4 90 o1 g1t § 3R RIFTARUl & §16 (=iidd 8l Sl g1

20) Which of the following organelles shows similarity to a prokaryetic cell? /

fFrafafad & 9 S19-971 36 U MPRUIeH BIHRAPBT B a8 JHGT ST 82
1. None ofthese/s:ﬁ@faﬁ'sﬁﬁ

2. Mitochondria only / &ad HIZCIDIS Y]
3. Chloroplast only | Had FARIERE
4. Both chloroplast and mitochondria / FARIERE 3R qﬁ‘cﬁﬁ%m gl

Correct Answer :-

» Both chloroplast and mitochondria / FARIERE 3R qﬁ‘cﬁﬁ%m gl



21) Food spoilage is due to: /
HIoH TRE 1 & PRI &:

1. Browning and bruising only / Had SIS 3R q\lr\}i‘l

2. Growth of unwanted pathogenic microorganisms only / Had 3Hdifesd ITeHD ﬁ@ﬂqﬁﬂﬁﬁ DI

fomr

3. Infestation by insects and other parts only / PHad ﬁ@ 3R 3= Tl GRI GshHUT

4. All of these / STYHd T+t
Correct Answer :-

« All of these / ST d Taft

22) The main feature of heterosis is: /
RN Ft g=7 faRivar 3:

1. The hybrid variety F1 exhibits superiority over both parents in yield, adaptation, quality and
maturity only. /

?awmm IS, 3G, TUIaT 3R URUedT | GIH1 o] IR I8l UeiRid =l
|

2. The superiority is under genetic control only. / PHad gl Hﬂﬂ% =0 o 98d giat %I
3. All of these / ST d Tt

4. The superiority is reproducible in specific environment only. / ad 98dT [ARTY araraRor #

gedied gl
Correct Answer :-

« All of these / ST d Toft

23 , a2 : : .
) What is the position of snakein the given food chain?

Grass —» grass hopper 2 frog 2 Snake /
& IS wiey Awen & @d & Fufa w2
gaa> @gsr > Agw > a9

1. Tertiary consumer / qaTdd IUHTAT

2. Secondary consumer / fgdiiges IUHIET

3. Decomposer / 3{UUCHh

4. Primary consumer / TS IUHTT



Correct Answer :-

« Tertiary consumer /WB’C{W

24) What is the term used for the loose, indistinct network of nucleoprotein fibres seen in
the interphase nucleus? /

SRTTRT F5p § 3Q H 91 YfFaauid|T aeif (PIEER) F 31d, 3y Acad & e swua
forar S 9Tl ue @ 82

1. Chromonema / EI'UW @Th:ﬁrl'f)
2. Chromatin / SoTAfeT

3. Chromosome / W(mﬂ)
4. Chromatid / 1Afes

Correct Answer :-

o Chromatin / pHfeT

25) Saccharum barberi and Saccharum officinarum are different varieties of: /
AFvT Fraviea ddvw oifprivasas fafie i g

1. Sugarcane / =T

2. Maize [/ HIdDI

3. Wheat /ﬁé’

4, Rice / dldd

Correct Answer :-

e Sugarcane / TTdT

26) Viruses are exclusively ./

TRy (o) faRiw & a8 8
1. saprophytes / Hﬂﬁﬂabf
2. parasites / PRI

3. all of these /G'Cﬂi@\ﬁ qut
4, autotrophs / Wad

Correct Answer :-

« parasites / Rofdt



27) Which of the following is a WRONG pair? /
fFrafafaa & & S19-91 7Taa g™ 32

1. Typhoid : virus / CISWISS: ﬁ'ﬁlTlI[

2. TB : bacteria / .o} Sacifear

3. Ringworm : fungi / QIq: dhddh

4. Potato spindle tuber disease : viroid / 31Tq IS &R INT: ARISS

Correct Answer :-

« Typhoid : virus / CI3HIZS: fAWIY]

28) During which stage of mitosis the spindle fibres are formed? /

TG faUTeH (AEeRN) & 59 WU & R fRUsd o9 (WI3aR) 994 82
1. Metaphase / AITIAT (HeTh)

2. Anaphase / THTIRIT (TATH )

3. Prophase / J@TaqT (Wl

O N i . W ¥
4. Telophase / CIIth S (Ccflth i)

Correct Answer :-

+ Metaphase / YT HeTh)

29) During mRNA synthesis , the unwanted DNA regions are removed and amino acid coding
regions are joined by the process of: /

mRNA H2a90 & R, Ay ufsear gRT e@ifed Sieae Gt (f9=9) &1 get faar smar @ ok
Y o & ped T (I A=) sie R &1 &

1. Capping / AT ¢ (W)

2. Termination / HHU (ﬁm

3. Splicing / THEY (TR AT JUITSRIT)
4. Methylation / AR (AydRSIRH)

Correct Answer :-

. Splicing / FHeY (IR T1 FUTER )

30) The process in which the cells are derived from root apical and shoot apical meristems, and
cambium undergo few to major structural changes both in their cell walls and protoplasm is
known as: /



98 Ufshar 39 A9 A S ol @ orad SR ga vy iR wRig e favsaias 3 ura
B € ok SfRraw o FifreT iRl iR shager 31 # $© T IaTH® uRad=l & glax
TR 8

1. Growth /'q’@

2. Maturation / ORU&dl
3. Development / fa&T
4. Differentiation / faRmismRr

Correct Answer :-

« Differentiation / faRIdI&vr

Topic:- Zoology

1) Growth in the first 10-13 years of age is controlled by: /

UYH 10- 13 94 B 39 # fIerg 39S gRT Frifa foear wiran 2:
1. LH

2. Tyrosine / TRRIRA

3. Thymosine / ?‘I'I?gﬁﬁ:f

4. ADH

Correct Answer :-

o Thymosine / ?ﬂgmﬁﬂ

2) The parotid, sub maxillary and sub lingual glands are located in the: /

%(ﬁ?’rﬁa JreioiY (9 AfFger)) 3R srenforgT (wa feiperen Wi e o fRya

1. Buccal cavity / 54 TgT
2. Stomach / THIRI™A

3. Lungs/m

4. Intestine / 3{7d

Correct Answer :-

« Buccal cavity / 9 TJgT



The cells that are protective in function and found in two or more layers are called

/

ﬁﬁgﬁﬁﬂﬁgv&mﬁ;ﬁ%&ﬁ?ammuﬁﬁmﬁmﬁﬁﬁ_ﬁn
ST gl

1. stomach layer / 3THTI TRd (THS TIR)
2. liver /dohd (dlaR)
3. simple epithelium / TRA Iudhal (RiTa Tufiferas)

4. compound epithelium / Sg&R IUHd (HHITS Tudiferay)

Correct Answer :-

« compound epithelium / Ig&R IUDHdl (HHSUS Tudiferay)

4) The volume of air inspired or expired during normal breathing is: /
HTHTI 4T & SR &l TS I1 SIS 18 arg T 3Maa o

1. Residual volume / Gm SAAd

2. Expiratory reserve volume /ﬁf:%m:f ﬁTf\&‘lﬁ AHdA

3. Tidal vqume/\SdNﬂlq HGdA (Clg S chfj\H)

4. Inspiratory reserve volume / 3id:Xa9 TRI&T T

Correct Answer :-

« Tidal volume / SARIY 31T (T3S dicgH)

5) AIDS cannot be transmitted through: /

TSH 59 GRT it 8] g1 T 3:
1. Sexual contact / AT TUH

2. Blood transfusion / Iadl¥T

3. Mosquito bites / HSX hl dICHI

4. Placenta to foetus / ST ST 4 Hul

Correct Answer :-

« Mosquito bites / H®IX h] hIcH]

6) Name the layer in the wall of the stomach that contains nerves and blood vessels. /

TG &t AR H W TR P11 Fa15¢ Fored dfret 3k vea arlestd gidt 31



1. Lamina propria / AfeET mfon

2. Mucosa / RTSHEH AT (Reh 191)

3. Muscularis mucosa /mw
4. Sub mucosa / 3U TASHEBAT (Jd TH14T)

Correct Answer :-

« Sub mucosa / 3U TAHG AT (TS R ™)

7) Name the gland that is affected due to insufficient intake of iodine. /

I U BT ATH FA1ST S ARNSH & qAied A S SR YUIAT el 81
1. Pineal / YifAgd

2. Pancreas / AR

3. Thyroid / 3¢ (UTARTIS)

4. Adrenal / 3TIdFH

Correct Answer :-

« Thyroid / 3{dg (ﬂm

8) A muscle that does not respond to stimuli at all is said to be in a state of: /

wn%ﬂﬂaﬁa‘rﬁwmaﬁwaﬁwuﬁrmﬂﬁ%‘cﬂ%,@ o1 fRufa A Fer
EIGIE

1. Tetanus / YT&I® (fee=)

2. Summation / GHRA

3. Rigor mortis / Jol ®T6-d (TR Hiféw)
4. Fatigue / Y (HEHT)

Correct Answer :-

. Fatigue / Y& (W)

9) What of the following acts as a part of biological catalyst in human body? /

fFruafeafad & Q =1 A IR A Sfde IS & TP URT S U A ST BT 872
1. Fats / 9T

2. Carbohydrates / m@?



3. Vitamins / faeTfaq
4. Sugars/Q@?I

Correct Answer :-

. Vitamins / faeT®=

10) Finger like projection called fimbriae is found in: /

STl SrT afRerd Wt R FBTAT (fimbriae) F8d €, AU ST
1. Cervix / a1 (afde)

2. Infundibulum / HUH T HITAT (SHeIgaH)

3. Isthmus / G I0GAISS I RASHEH (SHY)

4. Ampulla / gfSeT (W)
Correct Answer :-

 Infundibulum /WWW (?ﬁ@ﬁﬂ)

11) Human blood grouping is an example of: /
AT Yo TG 17 SeIEXU 3
1. Three alleles governing a character / A&Ul (W) $1 FHRd B3 arar diF fawedt (Eﬁﬁa)

2. No alleles governing the character / C&UT (WT) CAREUIER RS G| cr?lé 1 fasm et
(Qefter) =Tt

3. Two alleles governing a character / Q&[0T (WT) P! AT ®H a1 o fadwed! (Q?ﬂ?[)
4. One allele governing the character/ @& (hdex) I TR B arel T fased! (Taha)

Correct Answer :-

« Three alleles governing a character / CI&Ul (WT) $! FIRd B3 arar diF fawedt (Q?ﬂa)

12) |dentify the hormone released by heart. /
€&d RT ¥d1fdd gTHIA &1 Uga $e |

1. Gastrin /ﬁ@q

2. Secretin /@%ﬁ:{

3. Erythropoietin /Qﬁ'ﬂleléq
4. Atrial natriuretic factor / 3Mfdig AT HR®



Correct Answer :-

« Atrial natriuretic factor / 3ffeig AfeRfe® HR®

13) The organisms which invaded the land first are supposed to be: /
g forgi= aduyw Yftr o= va=n fear ur, 3 = 6
1. Plants / tﬁa

2. Animals / U]

3. Bacteria / GﬁaTUl
4. Virus / TS0

Correct Answer :-

o Plants / tﬁ‘a

14) The phase of estrous cycle at which pheromones are secreted is: /

e Uh (TR TSP ) FI a1 B R BRI wifdd giar @
1. Diestrus / SIUICYH

2. Metestrus / HagMN (HCURY)

3. Estrus / Ha (YY)

4. Proestrus / T

Correct Answer :-

« Estrus / Hq (U¥H)

15) The current population growth rate in India is alarming. The way/s to keep it in check
is/are: /

YRA H g SHE 9ig o HITH® g1 39 fAufa 3@ &1 adle/adis &
1. By increasing marriageable age only / $had faarg arg Y delhR

2. By educating people about consequences of uncontrolled population growth only / PHad

ST SIEReAT e b URUMHT o SR | 1T b1 FRIfard HRah
3. All of these /mﬁﬁ Tt
4. By promoting use of birth control measures only / dhad S 0 Ul & ST Bl deldl

Correct Answer :-



o All of these /m?ﬂ gt

16) According to the immune theory, the damage and destruction of cells of the
result in decreased immunity, which results in more diseases. /

afoRaT (37 Risia & VR, Dt BIRBTS Bt afd iR far &
ufRuma=u ufarem § &t el 8, e uRumawaey aiftre I 8id 21

1. adrenal gland / 3@@337 PIR]
2. thymus / YISHA

3. spleen / faeeit

4. pineal gland / TfATQ %Y

Correct Answer :-

o thymus / YIgHY

17) A gene of interest is cloned between Pst I and Pvu I sites in pBR322.The resultant
plasmid has the ability to grow in medium containing antibiotic. /

pBR322 ® Pst I 3R Pvu I T\ & HEH TH i 3T ¢3¢ & Tl farar oimar 8 1 ufRomit
oS | gfaofa® gaa areay § gfes #3A 3 &van gidl 3|

1. ampicillin only / FHad W@ﬁﬂ:{

2. none of these /mﬁ@ﬁgqﬁ

3. Tetracycline only / Had E;IHI%IFOTﬂ"I

4. both ampicillin and tetracycline /Qﬁﬂﬁﬁﬂ? ﬁ?émmﬁ

Correct Answer :-

 Tetracycline only / Had E; IHI%IFOTﬂ"I

18) In the menstrual cycle, lowering of which hormone causes menstruation? /

TR o o, {5 gTai & & g1 3 " o giar 82
1. Progesterone /Eﬁ@@ﬂq
2. Thyroxine / YTRITGT

3. Estrogen / Q@GF[
4, Follicle stimulating hormone / BAINERS] f\%ﬂaﬁﬁ'ﬂ Bﬁ

Correct Answer :-



« Progesterone / SRR

19) In which Group the mode of reproduction is only Sexual? /
e agg o yo @1 faft $aa dftre g2

1. Ctenophora / SHIBRT

2. Porifera / TR

3. Protozoa / Eha\_rh\’rﬂ

4. Coelenterata / ?ﬂ@@ﬂ

Correct Answer :-

« Ctenophora / TIBRI

20) Which of the following is NOT a feature of a cancer cell? /

frafafea § @ S1-30 FaR Hifkrer o1 faiva 768 82

1. The cells remain confined to a particular position. / ﬁﬁmﬁ Udh fouiy fufa de ol difd
El gl

2. They have lost the property of contact inhibition. / 9 Geof Herm (d)T*EOK‘. S'SRI-‘%I'-I) & 1IUT‘&I'JZCI
EARCIRI NS

3. They exhibit metastasis. / J QIR (ﬁ?@ﬁlﬁ) BT UG Bt %I

4. They do not undergo differentiation. /a faveT (IgcﬁiiﬁlQQH) @['_‘I%Q[ 1 !GR(_‘“ %I

Correct Answer :-

 The cells remain confined to a particular position. / ﬂifmﬁ Uh fouy fufq dw o1 difd
El gl

21) Which of the following is an ex-situ conservation method for the conservation of
endangered species? /

fFrafafaa o @ S-3d g yenfodi & dvemr & e e R-amits (gw-dlg)
Tefor fafr 32

1. Biosphere reserves / SigHed HeR (Wﬂ? ﬁT;Ié)
2. Cryopreservation / f=1arg uRRer (HrfieRaeM)
3. National Parks / wgﬂn 3+

4, Sanctuary / RIRTY

Correct Answer :-



 Cryopreservation / AT URREUT (hTATUSRARM)

22) Which of the following is an edible fresh water fish? /
fFafafea % @ o9 @ arvg 1 i (1 arex) 3t god §2
1. Sardine / IR &I

2. Hilsa / %@T
3. Mackerel / ﬁw

4. Common Carp / HIHT BTG

Correct Answer :-

e Common Carp / HIHT BT

23) Which of the features is NOT the basis for the broad classification of Animalia? /
TAferaT & arue aiffeur & forw -t faxiwar snyrR g 82

1. Levels of organization / TG b &R

2. Symmetry / LS|

3. Body cavity or coelom / YRING el a1 WeTl (ﬁ W gl W)

4, Locomotion / ITHA (ﬁlﬁﬁl’?ﬂ)

Correct Answer :-

o Locomotion / TTHA (Fﬁﬁ'ﬁmﬂ:{)

24) Who among the following has the greatest amount of collagen in their
body?

/ Frafafea 3 & fras IR | ol o 99 Sifere aEn it 82
1. Infants / TRIgy3f

2. Foetus / Y0T

3. Aged people/ IGl

4. Adults / TTTDI

Correct Answer :-

o Adults /W



25) Chordae tendineae is found in which part of the heart?

/ T & f5d U A HEIRSY (Piel ¢ UTaT SITdT 382
1. Sinus venosus / JTZY AT

2. Auricles / 3Tfdig

3. Aorta / TGTYEHAT

4. Ventricles / e/

Correct Answer :-

 Ventricles /ﬁﬂq

26) Simultaneous deficiency of protein and total food calorific value, leads to a
disease in children known as: /

el 7= o v & e R NN iR Fa HieH SRt A B HH §H W TS SHR 81
Tt €, ford f peTwITan @:

1. Minamata /ﬁFI'ITI'I?IT

2. Marasmus / T 3T (ARTEI)

3. Klinefelter syndrome /W ﬁr‘;ﬁn
4, Kwashiorkor / STRIR®R

Correct Answer :-

. Marasmus / T I (ARTEHY)

27) According to world bank report (1988-95), the average life span of human being is: /
fay & YUl (1988-95) & IR, WIS FI 3NTd Sia 3rafdr 3:

1. 65 years / 65 T8

2. 75 years / 75 a9

3. 100 years / 100 I

4. 60.4 years / 60.4 T

Correct Answer :-

. 60.4 years / 60.4 TY

28) A person, who is transfused with blood plasma proteins from someone who has been
actively immunized against a specific antigen, is considered to have



/ T safad § Iad WSt W o MU (Sawgs) fovar mar o1, o T 08 safaa & uend fan
wvﬁﬁmﬁﬂmgﬁwqﬁwwﬁmmw%lwmﬁ,ﬁﬁ
T gidt 81

1. active immunity/WQﬁT&ﬂ

2. autoimmunity/m&‘w

3. passive immunity / ST Tfaver
4. antibodies /Qﬂa}@

Correct Answer :-

« passive immunity / FITSRT TfaRem

29) Man differs from Apes in having ./
ag TN & HRU IR A R g B

1. grasping hands / tlﬁ_‘;l_ETUT By
2. longer legs than arms / uwaﬁa%‘r NEI ERSCACHS
3. protruding jaws / IR g(d ECK (Ehg'%"'[ El)

4, wrists have ball and socket joints / O'PQ,Cb SfcedT Ty (GITG 3'?|T gidhe \rdT‘éC) arelt qmléq‘i’

Correct Answer :-

« longer legs than arms / H\_SHG'I:T Cdl NEI ERSCACHS

30) Trinomial nomenclature refers to names ______./
Augameror Al o) deffa e 31

1. for taxa below the level of species / STl I TR I =9 q¥fes (&) & forw
2. for plant taxa / UTGU T (<o) & g

3. for animal taxa / U] I (o) & forg

4. for microorganisms / J&SAd & ferg

Correct Answer :-

« for taxa below the level of species / gl & TR 9 A aFie (%fﬁﬂ) & 1%1?

Topic:- General English

1) Choose the appropriate prepositions for the given sentence:



It is a long time I had a good meal; Or I haven't had a good meal ages.

1. since, at

2. since, for

3. for, by

4. to, in

Correct Answer :-

« since, for

2) Choose the correct form of verb that is in agreement with the subject for the given sentence:
Either Aunt Heidi or the sisters all the cupcakes.

1. has eaten

2. has been eating
3. have eaten

4, is eating

Correct Answer :-

» have eaten

3) Choose the appropriate articles for the given sentence:

I bought  book from ___ shop but I lostiton __ way home.
l.an,a, a

2. a, a, the

3. a, the, an

4. the, an, a

Correct Answer :-

4) Choose the appropriate articles for the given sentence:



Starting _ new venture can be ___ daunting task but ____ acceptable, first step can make
things easier.

1.a,a,an
2. the, the, an
3. the, an, an

4. the, a, an

Correct Answer :-

5) Choose the appropriate determiners for the given sentence:

of the boys in ___ class were dressed in red t-shirts with ___ school logo on the breast
pocket.

1. More, than, the
2. Much, a, than
3. Most, the, a

4. Many, the, the

Correct Answer :-

« Many, the, the

6) Choose the appropriate determiners for the given sentence:

The head chef was credited with establishing  of critically acclaimed and
traditionally made dishes of ___ country.

1. much, some, more
2. much, more, some
3. some, the most, the

4. more, the, a

Correct Answer :-

« some, the most, the



7) Choose the appropriate prepositions for the given sentence:

We arrived ___ the airport __ good time for the plane.
1. to, at

2. from, by

3.at, in

4.in, to

Correct Answer :-

e at,in

8) Choose the appropriate prepositions for the given sentence:

I think I left my umbrella ___ the bus. I'd better write ___ the Lost Property Office.
1. to, at

2.to, in

3. from, by

4.in, to

Correct Answer :-

e in, to

9) Choose the option which is a simple sentence.
1. Study hard lest you should fail.

2. The boy proved his innocence.

3. He said he had not committed the offence.

4, Most people who complain are discontent in life.

Correct Answer :-

« The boy proved his innocence.

10) Choose the option that best transforms the given sentence into its passive form:

Where has Anil lost his wallet?



1. By where has Anil lost his wallet?

2. Where has Anil’s wallet been lost (by him)?
3. Where is Anil’s wallet lost?

4, Where do you think Anil had lost his wallet?

Correct Answer :-

« Where has Anil’s wallet been lost (by him)?

11) Choose the option that best transforms the given sentence into its passive form:
While in Mumbai, he wrote songs for Hindi films.

1. While in Mumbeai, he writes songs for Hindi films.

2. While in Mumbeai, songs for Hindi films had been written by him.

3. While in Mumbai, songs for Hindi films are written by he.

4, While in Mumbai, songs for Hindi films were written by him.

Correct Answer :-

« While in Mumbai, songs for Hindi films were written by him.

12) Choose the option that best transforms the given sentence into its positive degree:
A donkey is not duller than he.

1. No other person but he is as dull as a donkey.

2. He is as dull as a donkey.

3. He is not so duller than a donkey.

4. He is not so dull as a donkey.

Correct Answer :-

« He is as dull as a donkey.

13) Choose the option that best transforms the given sentence into its superlative degree:
I have never seen so dreadful an accident as this.

1. This is the most dreadful accident that I have ever seen.

2. This accident has been more dreadful than any one I have seen.

3. This accident has been most dreadful one I have seen.



4. I have seen the most dreadful accident.

Correct Answer :-

« This is the most dreadful accident that I have ever seen.

14) Choose the idiom that best fits into the given sentence:
The solider in his mother’s arms.

1. bit the dust

2. kicked the bucket

3. breathed his last

4. burnt his boat

Correct Answer :-

« breathed his last

15) Choose the correct opposite meaning for the highlighted word in the given sentence:
She was admired for her impeccable manners as well as her faultless taste in clothing.

1. imperfect

2. flawless

3. exemplary

4. untarnished

Correct Answer :-
« imperfect

16) Choose the correct form of verb that is in agreement with the subject for the given
sentence:

Samyuktha __ worried about ___ Board results.
1. were, your

2. was, her

3. are, their

4. am, his

Correct Answer :-



» was, her

17) Choose the correct form of verb for the given sentence:

My grandfather his own business; I really him.
1. owned ... like

2. started ...admire

3. established ... hate

4, appreciated ... loathe

Correct Answer :-
o started ...admire

18) Choose the correct form of tense to complete the sentence:

How long here?
1. is you waiting

2. does you wait

3. had waited

4. have you been waiting

Correct Answer :-

« have you been waiting

19) Choose the correct form of modal auxiliary verb for the given sentence:

Children are advised that they in dim light or they will spoil their eyesight.
1. might have reading

2. might not read

3. must not read

4. must have read

Correct Answer :-

« must not read



20) Choose the correct form of modal auxiliary verb for the given sentence:

There are some clouds in the sky, not dark clouds, butit __ rain later in the evening.
1. must

2. should

3. could

4. shall

Correct Answer :-

e could

21) Choose the correct form of phrasal verb for the given sentence:

The month of June is usually the time when the monsoon season in India
1. sets aside

2. sets out

3. sets in

4. sets up

Correct Answer :-

e sets in

22) Choose the correct form of phrasal verb for the given sentence:

Let's in the national park.
1. camp away

2. camp into

3. pitch up

4. camp out

Correct Answer :-

e camp out



23) Choose the correct word for the given sentence:
The school is located in a quiet  area.

1. residented

2. residential

3. residency

4. resident

Correct Answer :-

« residential
24) Choose the correct suffix that best fits in the given sentence:

The first adhes-- stamps were issued in England.

1. --ion
2. --ivy
3. --1ve
4, --al

Correct Answer :-

25) Qut of the following options, identify the sentence with a grammatical error.
1. Neither Ramesh nor Suresh are to be blamed.

2. Either he or she is the culprit.

3. All of them were busy playing chess.

4. None of them went for a walk.

Correct Answer :-

« Neither Ramesh nor Suresh are to be blamed.

26) Out of the following options, identify the sentence with a spelling error.

1. We must take a backup in our computers or else data will crash out.

2. It is hard to take a step backwards.



3. What have you gained in the last 10 years?

4. From my prospactive it is not such an obvious error.

Correct Answer :-

« From my prospactive it is not such an obvious error.

27) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
quandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

According to the given passage, Shweta had met with
1. a fatal accident

2. lots of surprises

3. office colleagues

4. friends

Correct Answer :-

« a fatal accident

28) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
quandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

According to the given passage, where was she coming from?
1. Airport
2. Railway Station

3. Long Drive



4. Bus Station

Correct Answer :-

o Bus Station

29) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
qguandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

The author’'s mood towards the end of the passage is:

1. Disturbed
2. Angry

3. Confused

4. Relaxed

Correct Answer :-

o Disturbed

30) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
qguandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

Which is the closest meaning of the word ‘Quandary’?

1. Success
2. Advantage
3. Sticky situation

4, Remove



Correct Answer :-

« Sticky situation



